CH 3: Differentiation Rules

3.2 The product and the quotient rules

L. frst mote that = (7(z) - g(x)) # = f() - +-9(z) (i (f-6) # J'+ )

- first note that —(f(z) - g(x (@) —g(@) (ie. g q).

Test this on f(z) = 23 and g(x) = 21°
d d d .
2. the product rule: d—(f(x) -g(x)) = f(x)d—g(x) + g(z)—f(z), i.e.
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3. similarly note that % (;g;) + Zg((g (i.e. (5)’ + ch—:) Check this on f(z) = 2 and g(z) = 2'°
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4. the quotient rule: (
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